One-Sided Derivatives

Compare the right-hand and left-hand derivatives to show that the
functions in Exercises 35-38 are not differentiable at the point P.
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foy=x* => fny=2x => Leftsided deriviative is lim feo=2-0"=0
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do =X => g =1 => Right sided deriviative is J!Ll(l)l I =1

JTAN 1D VID'WN M TYN N'7R DN MWK X ,09K7 ORIV VID'WN 78w T¥n P nTI717 nranpnn 2wxo
P 27,2 pama natk n'yjraion ) DX

36)
foo=2 => fn=0 => Leftsided deriviative is ;11}1_ fay=0
dx) =2X => g, =2 => Right sided deriviative is J!LI}]_I_ I = 2
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=Vx => O => Left sided deriviative is lim f} = t 12
[y =Vx = f(x)_Z\/E = eft sided deriviative is xg}l‘f(x)_Z\/F_Z

9o =2x—1 => g,y =2 => Right sided deriviative is }E}l Iix) = 2
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38)
foy=x => fy=1 => Leftsided deriviative is J!Lril_ fo=1
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I = o => g'(x) =z => Right sided deriviative is lim g’(x) = W =-1
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